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QUESTION 1

A Windows policy protects over 100 servers using the directive ALL_LOCAL_DRIVES. The backup window for this
policy is a two-hour window that is unused by any other policy. When the jobs run, each server has no more than ten
paths, and the overall performance of the disk storage unit is degraded. 

Which setting should the administrator modify to ensure only ten jobs write concurrently to the disk storage unit during
the backup window? 

A. set the "Allow multiple data streams" policy attribute 

B. enable the "Limit Jobs per policy" attribute 

C. set the "Maximum jobs per client" host property 

D. enable multiplexing for the storage unit and set the value 

Correct Answer: B 

 

QUESTION 2

An administrator has a master server running over 50,000 jobs per day. What can the administrator do to reduce the
load on the master server? 

A. replicate the backups to another master server domain 

B. configure a new master server to distribute the backup load 

C. add additional media servers to the environment 

D. configure client-side deduplication and load balancing media servers 

Correct Answer: C 

 

QUESTION 3

A file system on a server that has different files changing daily becomes corrupt, and a restore is required. The system
is being backed up using True Image Restore with move detection enabled. 

The most recent backups of this file system are displayed below: 

Monday: A full backup Tuesday: A differential incremental backup Wednesday: A cumulative incremental backup
Thursday: A differential incremental backup Friday: A differential incremental backup 

What is the minimum number of backup images that will be used to fully restore the server to its most current state? 

A. one 

B. two 

C. three 
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D. four 

E. five 

Correct Answer: C 

 

QUESTION 4

An administrator is experiencing a backup failure, which may be due to lack of connection between the 

media and master server. The status of the media server is shown below: 

Media server showing offline 

Which command can the administrator run to change the status of the media server? 

A. bptestbpcd 

B. nbdb_admin 

C. nbemmcmd 

D. bpminlicense 

Correct Answer: C 

 

QUESTION 5

An administrator has an audible appliance alarm detected in the data center. 

Which command should the administrator use to troubleshoot the reason for the alarm? 

A. Settings > NetBackup Misc Show 

B. Appliance > Status 

C. Monitor > Hardware > ShowHealth 

D. Support > Test > Software 

Correct Answer: C 

 

QUESTION 6

An administrator has a backup policy with the following policy attributes: 

3 paths listed in the Backup Selections list 5 clients listed in the Clients list "Allow multiple data streams" is selected
"Limit jobs per policy" is set to 4 

How many jobs go Active when the job is started, excluding parent jobs, assuming there are enough storage resources
to handle the expected jobs? 
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A. 3 

B. 4 

C. 12 

D. 15 

Correct Answer: B 

 

QUESTION 7

Which command should an administrator run on each appliance as part of completing the pre-upgrade tasks? 

A. Support > Cleanup 

B. Manage > Software > UpgradeStatus 

C. Support > Test Software 

D. Manage > NetBackupCLI > List 

Correct Answer: B 

 

QUESTION 8

An administrator is performing a backup and receives the following error message: 129 Message: Disk storage unit is
full Which NetBackup command should the administrator use to report the potential free space of 

AdvancedDisk storage units? 

A. nbdevquery 

B. nbdiscover 

C. nbemmcmd 

D. bpdbdm 

Correct Answer: A 

 

QUESTION 9

What is the maximum age of the host\\'s Certificate Revocation List (CRL) before communication with the host is
prevented? 

A. 48 hours 

B. 5 days 

C. 7 days 
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D. 30 days 

Correct Answer: C 

 

QUESTION 10

What is required to implement Auto Image Replication? 

A. BasicDisk or AdvancedDisk storage units and at least one master server 

B. OST-compliant storage or MSDP and at least one master server 

C. OST-compliant storage or MSDP and at least two master servers 

D. BasicDisk or AdvancedDisk storage units and at least two master servers 

Correct Answer: C 

 

QUESTION 11

How can an administrator determine the storage and database paths for an MSDP? 

A. run the Configure Disk Storage Server wizard for the MSDP 

B. view Storage Unit > View Properties for the MSDP storage unit 

C. view Disk Pool > Disk volumes for the MSDP disk pool 

D. view Storage Server > Properties for the storage server 

Correct Answer: D 

 

QUESTION 12

What is the primary purpose of implementing load balancing media servers with NetBackup appliances? 

A. to distribute the deduplication storage and increase the overall capacity of the MSDP pool 

B. to offload the deduplication processing and reduce the network impact on the appliance 

C. to offload the deduplication processing and reduce the CPU and RAM requirement on the appliance 

D. to distribute the deduplication processing and increase the rehydration performance when restoring data 

Correct Answer: A 

 

QUESTION 13

After creating a NBU-Catalog type backup policy, an administrator receives the following message: 
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DR file is on the same partition as your catalog and will be unusable in an actual disaster or disk failure. 

Which two options are available to the administrator to ensure the DR file is available for future use? (Choose two.) 

A. ensure the folder DR file is on a non-root volume 

B. ensure the DR file is created on a volume other than the NetBackup volume 

C. ensure the NetBackup catalog is on a non-root volume 

D. configure a valid email address of the administrator in the "Send email" option 

E. configure Auto Image Replication to send the DR file to a remote master server 

Correct Answer: BD 

 

QUESTION 14

Storage Lifecycle Policy (SLP) SLP1 is used to perform a backup and duplication. The backup is always a small, 100MB
backup. The master server host properties for SLP Parameters are set to the default values. 

How can the administrator ensure the duplications run as soon as possible after the backup completes? 

A. reduce the "Job submission interval" setting to 0 

B. reduce the "Minimum size per duplication job" setting to 50MB 

C. right-click SLP1 and select Manual Relocation to Final Destination 

D. increase the "Priority for secondary operations" in the SLP 

Correct Answer: B 

 

QUESTION 15

An administrator creates a Storage Lifecycle Policy (SLP) to take advantage of optimized duplication. The backup and
subsequent duplication jobs launch as configured in the SLP. 

What may cause the secondary duplication job to run as non-optimized? 

A. Optimized duplication requires the media servers to be configured as Fibre Transport media servers. 

B. Optimized duplication is unsupported when a storage unit group is the target of the duplication. 

C. Both compression and encryption attributes are disabled in the backup policy. 

D. Both source and destination storage servers have only one media server in common. 

Correct Answer: A 
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